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QUESTION 1

Refer to the exhibit. 

You discover that only 1.5 Mb/s of web traffic can pass during times of congestion on the given network. Which two
options are possible reasons for this limitation? (Choose two.) 

A. The web traffic class has too little bandwidth reservation. 

B. Video traffic is using too much bandwidth. 

C. The service-policy is on the wrong interface. 

D. The service-policy is going in the wrong direction. 

E. The NAT policy is adding too much overhead. 

Correct Answer: AB 

In this example, the web traffic will fall into the default class, which is only 15 percent of the 10Mbps Internet connection
(1.5Mbps). Meanwhile, video traffic is allowed 50% of the 10 Mbps. 
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QUESTION 2

Which encryption algorithm is enabled by the Cisco IOS command service password- encryption 

? 

A. MD5 

B. Cisco Type-5 

C. Cisco AES 

D. Cisco Type-7 

E. TKIP 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit. 

Why is the neighbor relationship between R2 and R4 shown as ES-IS? 

A. because there is an MTU mismatch between R2 and R4 

B. because interface S3/0 of R4 is configured as L1/L2 

C. because interface S3/0 of R2 is configured as L1 

D. because there is a hello interval mismatch between R2 and R4 

Correct Answer: C 

With IS-IS we will see ES-IS when one of the following is true: 

uk.co.certification.simulator.questionpool.PList@d4846d0 So in this question because we do not know about the other
side\\'s "show CLNS neighbor" A must be the better choose. 
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QUESTION 4

Which three options are three benefits of an MPLS VPN? (Choose three.) 

A. It allows IP address space overlap by maintaining customer routes in a private routing table. 

B. It offers additional security by preventing intrusions directly into the customer routing table. 

C. It offers a transparent virtual network in which all customer sites appear on one LAN. 

D. It offers additional security by allowing only dynamic routing protocols between CE and PE routers. 

E. It allows IP address space overlap by maintaining customer routes in the global routing table with unique BGP
communities. 

F. Providers can send only a default route for Internet access into the customer VPN. 

Correct Answer: ABC 

 

QUESTION 5

Which two types of traffic are blocked when the storm control threshold for multicast traffic is reached on a port?
(Choose two.) 

A. BPDU 

B. OSPF 

C. CDP 

D. IS-IS 

E. LLDP 

Correct Answer: BD 

351-001 VCE Dumps 351-001 Exam Questions 351-001 Braindumps

351-001 VCE Dumps | 351-001 Exam Questions | 351-001 Braindumps                                4 / 5

https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html


https://www.lead4pass.com/351-001.html
2021 Latest lead4pass 351-001 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.lead4pass.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © lead4pass, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

351-001 VCE Dumps | 351-001 Exam Questions | 351-001 Braindumps                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html
https://www.lead4pass.com/351-001.html

